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Note :

() XoH e AT 8, 99 5 8 b e & I o 1

Question No. 1 is compulsory, answer any FIVE questions from the remaining.

‘(ii) Y% F9 & GHT ST ) FHAR OF GrE §F Ford |

Solve all parts of a question consecutively together.
(iii) ¥eI% F¥T F 79 98 & SR Fifad |

Start each question on fresh page.

(iv) 2 T 7 3= g3 Rl FAA Srarg @ A= 8
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(iii)
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Only English version is valid in case of difference in both the languages.

wia o fyafta e srae § S aees |
Explain the difference between lumped & distributed network parameters.
Toaté trer % ford w1y o =t st iy i) |
Define short circuit parameters for two port networks.
fepcaie % foram =t sqrewr wfea ffed = wwemsd |
State & explain the Kirchhoff’s laws with the help of example.
T Y STt s =T
Draw the network configuration of following :
() Wgfera 3 Irgfera T <
Balanced & Unbalanced “T”” Network
(b) ¥ ‘T Hre e
Bridge “T” section of Network

T 9 srEafid 9T (n) W 1 e o ' |
Draw the network configuration of Symmetrical & Asymmetrical pie section. (2x5)
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Determine the current through Galvanometer in the given bridge circuit of fig.-
2(i).
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f=-2 (i)/Fig-2 (i)

i) -2 (i) 3 R o 3 forg e e g e 8 e et & g
A HI |

Write the nodal equation for the circuit of fig.-2(ii), & solve for nodal voltage.

4A#> %3 Q éQ % (&) 4A

-2 (ii)/Fig-2 (i) (6x2)

3. Praffga % ener S T S

Find the Laplace transform of following :

(i) ST B
Exponential function

(ii) S B
Derivative of function

- (i) TRy

Shifting theorem (4%3)
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Fine the inverse Laplace transformation of the following :

. s+4
F N ——
® @) 2s+5s+3

2
Gi) F@)= s“+4s+3

e aleds 6
s(s+2)(s+4) e

5 0 mm%m@mmm@mmmaﬁm |
State & prove the initial & final value theorem of Laplace transformation.
(ii) m(i)wmmﬁﬁﬁ,ﬁm%@%mmm:@% |
Find the current (i), assuming that initial value is zero.
29;1—+6£+4i=5 (6x2)
dt dt :
6. Pl ud H s % ved # aEEE -
Define the following terms with respect to resonance -
() TR AFTQ
Parallel resonance
(ii) = g @ ¥ e
Selectivity & bandwidth
(iii) it SO SFE 3 (Q)
Q factor on Energy basis (4x3)

1.5 ﬁa?(i)ﬁﬁaﬂimﬁﬁiw%ﬁﬁ@mmmﬁaﬁ%@I

Write the short circuit admittance (Y-parameters) for the resistive two port
network shown in fig.-7(1).
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-7 (i)/Fig-7 (i)
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